Vyieste diferencialni rovnici

(1) cos(z)y +sin(z)y = 1.

(2) y —y=e*.

3) 2*y' +y=1

4) v + x—li— Ty = sin(z).
(5) ¥ +y cotg(x) = 1.
(6) 2%y +xy=2a>+1.
W)M+ly=2
T
(8) sin(z)y’ — cos(x)y = sin®(z).

9) 2y —2y = 2°.

(10) tg(z)y' +y = sin(z).
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(11) zy —y = zIn(x).
(12) 2y —y = V.
(13) ¥ — 22y = —=x.
(14) v +y = 22

(15) 2%y +xy = 1.

2 T

(16) 2y —y=ax%e ™.
(17) (x2 + 1) Yy —2xy=umx.
(18) ¢’ + sin(z) y = sin(x).

(19) ' + tg(z) y = sin(2z).

(20) 2%y — 2y =1.
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Vyfteste diferencialni rovnici

(1) y = ccos(x) + sin(x), ¢ € R.

(2) y=ce” +e*, ceR.

(3) y=cer +1, ceR.

c sin(z) — x cos(x) — cos(x)

4) y= R.
Wy=_——"7+ po , CE
(5) y= C ot (x), ceR
v sin(z) S ’
c In(z)

M y=2 42, ¢ er
x
(8) y = csin(z) — sin(z) cos(z), ¢ € R.

(9) y=ca®+2° ceR.

Cc

1
(10) y = 3 sin(x) + ceR.

sin(z)’
L o2
(11) y:cx+§xln (), ceR.
(12) y = cx — 2y/x, c € R.
1 2
(13) y:§+ce$ , ceR.

(14) y=ce "+ 2% - 22 +2, ceR.

1
(15) y= S+ O L ep
X X




(16) y=cx —ze ®, ceR.

(17) y:—%Jrc(szrl), ceR.
(18) y = ce®® + 1, ce R.

(19) y = ccos(z) — 2cos*(x), ¢; € R.

1
20 = - — R.
(20) y = cx 57 ce



